N of associated (recoToSim) looper tracks vs normalized x*

[N of reco track vs normalized x? ] [N of associated (recoTosim) tracks vs normalized
2] F 1%} [%] F (%]
x e x = X x
Q L M Q L [} Q
[ I 8 5 8 g
107 3 10°F ks s
E o =R s g
r * [ =3
0t 0 g
10°F 10°F
10°F e 10°F
10F i 10F
E 1 1 1 1 1 1 1 1 1 E
g LTTTT ] 8 il 1 8
: Be R = g [ T % &
g 1FLL 09F | T 4
SRRk IR I TR T it 30| 0 ot TILY LT
10 12 14 16 18 20 "0 2 4 6 8 10 12 14 16 18 20 "0 2 4 6 8 10 12 14 16 18 20
track track X2 track x?
1%} 1%} F (%]
x X F X
€ 105 3 8
5 10°F £ 10t =
il = = 10° g s
2 s 8
= i} w e
10°E k =
10° 3
10°E
ey
; e
Ve |
i
v o
G ¢ 1
} o e
: tt
B
ettt
' UW‘ fl \H g £ g
1 \‘ 5] IS ]
i ‘ d‘| n: ) n:
i | 1
i1 il
|
. . 0.95




	Contents
	Page 1


